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1 ~ Consider the following simplified APT model: (15 %)

Factor Expected Risk Premium
Market 6.6%

Interest rate -0.3%

Yield spread 5.5%

Calculate the expected return for the following stocks. Assume rr=5%

Factor Risk Exposures
Market Interest rate Yield Spread
Stock (bl) (b2) (b3)
A 1.2 -2.1 -0.3
B 1.4 0.2 0.3
C 0.4 0.5 1.1

2 TERAEESHGAERRTHHRBTHRERZORA - FRET AITETFTFHA (10 4)

R B MEAAR PR R
5% 2% 3.5%
20% 32% 14%

(1) W F R A% 60 B A AT?

(2) BTGB S%K 20% M ERE - AR B AR FEKL L 8%IF 0 B X AL T TR F 5 3] B2
IR E R EN S B EAARTEAGBAMAL 115 MLERMEL 12% - BATRRAKRAIRZE 525% - B4

BB REAF Mo 50 BEA > REFBEEBB/ALBRES 075 BRI L BRI 550 L8
BRELLERMERS D ?(10H)

4 ~ A project has the following forecasted cash flows: (15 %47)

Cash Flows,$ Thousands
Co Ci Ca Cs
-100 +40 +60 +50

The estimated project beta is 1.5. The market return 1 is 16%, and the risk-free rate rris 7%.
(1) Estimated the opportunity cost of capital and the project’s PV (using the same rate to discount each cash flow).

(2) What are the certainty-equivalent cash flows in each year?
(3) What is the ratio of the certainty-equivalent cash flow to the expected cash flow in each year?
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